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ÍÛæ̃ Û¶ÛÛ :   (1) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé ÅÛ”ÛÛé. 
Instruction :  Attempt all questions. 

    (2) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 
     All questions carry equal marks. 
 

 

1. ÍÛ¾ÛÛ›÷ÉÛÛÍªÛàýÛ ÜÍÛ±ùÛ×©Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà ©Ûé¶Ûä× ÍÈÛÄõ¸Û ÍÛ¾Û›ÛÈÛÛé. 14 

 Explain the meaning of sociological theory and also explain its nature.  

…¬ÛÈÛÛ/OR 

 ÍÛ¾ÛÛ›÷ÉÛÛÍªÛàýÛ ÜÍÛ±ùÛ×©Û¶ÛÛ× ïõÛýÛÛë ÍÛ¾Û›ÛÈÛÛé. 
 Explain the functions of sociological theory. 
 

2. ¤øÛÅïõÛé¤ø ¸ÛÛÍÛÙ¶ÍÛ¶ÛÛé ‘Action System’ ¶ÛÛé ”ýÛÛÅÛ ˜Û˜ÛÛë.     14 

 Discuss the Talcott Parsons’s Action System concept. 

…¬ÛÈÛÛ/OR 

 ¤øÛÅïõÛé¤ø ¸ÛÛÍÛÙ¶ÍÛ¶ÛÛé AGIL ¾ÛÛé¦éøÅÛ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 
 Explain the Talcott Parsons’s AGIL Models concept.  
 

3. ÁõÛé¼Û¤Ùø ¾Û¤Ùø¶Ûé …Û¸ÛéÅÛ ¾ÛµýÛÈÛ©Ûâ¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 14 

 Explain the middle range theory given by Robert Merton.  

…¬ÛÈÛÛ/OR 

 ¾Û¤Ùø¶Û¶ÛÛé ¸ÛéÁéõ¦øÛˆ¾Û¶ÛÛé ”ýÛÛÅÛ ˜Û˜ÛÛë. 
 Discuss the Robert Merton’s paradigm concept. 
 

4. ÍÛ×–ÛÌÛÙÈÛÛþù¶ÛÛ× ¼ÛÛíéÜ±ùïõ ÍªÛÛé©ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 

 Discuss the intellectual roots of conflict theory. 

…¬ÛÈÛÛ/OR 

 ÁõÛÅºõ ¦øÛÐÙü¶Û¦øÛéºÙõ¶ÛÛ ÍÛ×–ÛÌÛÙ ›æ÷¬Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
 Discuss the Ralf Dahrendorf’s conflict group theory. 
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5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 14 

 Write very brief answer in the following questions : 

 (1) ÁõÛé¼Û¤Ùø ¾Û¤Ùø¶Ûé …Û¸ÛéÅÛà ÜÍÛ±ùÛ×©Û¶Ûà ÈýÛÛ”ýÛÛ ›÷¨ÛÛÈÛÛé. 
  State the definition of theory according to Robert Merton.  

 (2) ÍÛÁéõÜ¶¦øÜ¸Û¤øà ¸Ûé¤ø¶ÛÙ …é¤øÅÛé ÉÛä× ? 

  What is serendipity pattern ? 

 (3) ¸ÛéÁéõ¦øÛˆ¾Û …é¤øÅÛé ÉÛä× ? 

  What is paradigm ? 

 (4) …éîÉÛ¶Û ÜÍïõ¾ÛÛ¶ÛÛé …¬ÛÙ ›÷¨ÛÛÈÛÛé. 
  State the meaning of Action Schema. 

 (5) ïõÛýÛÙ …¶Ûé ÜÈÛïõÛýÛÙ¶ÛÛé …¬ÛÙ ›÷¨ÛÛÈÛÛé. 
  State the meaning of function and dysfunction. 

 (6) Ðéü¼ÛÁõ¾ÛÛÍÛ¶ÛÛ ¾Û©Ûé ¾Ûæ¦øàÈÛÛþù¶Ûà ¾Ûä”ýÛ µÛÛÁõ¨ÛÛ…Ûé ›÷¨ÛÛÈÛÛé. 
  State the main assumption of capitalism according to Habermas. 

 (7) ¦øÛÐÙü¶Û¦øÛéºÙõ¶ÛÛ ¾Û©Ûé ÍÛ«ÛÛ …é¤øÅÛé ÉÛä× ? 

  What is power according to Dahrendorfs ? 

___________ 


